CVEG 4143 BEARING CAPACITY CLASS PROBLEM

class pivk |
You have just taken the job as City Engineer of Pea Ridge, Arkansas. One of your first
tasks is to evaluate the gafety of an elevated water tank in the national park. The tank
weighs approximatelyjﬁ tons when full and is supported on four legs. Each leg has a
circular foundation as shown below. Determine-the-allowable capacity-of the-foundations.
Use both-general shiear considerations-and-local-shear-considerations. = <
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CVEG 4143 BEARING CAPACITY CLASS PROBLEM (&

You have just taken thg job as City Engineer of Pea Ridge, Arkansas. One of your first
tasks is to evaluate the saf :

weighs approximately 20 tons nd is supported on four legs. Each leg has a
circular foundation as ghe e-allowable capacity of the foundations.
Use both general siéar considerations and local shear consitterations =3
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CVEG 4143 Bearing Capacity Class Problem 3

A square foundation has to be constructed as shown below. Determine the size of the
footing with F=3.
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CVEG 4143

Bearing Capacity Class Problem 4

Determine the adequacy of the footings (shown below) against a general shear failure
The total load is 100 tons. Use a factor of safety of three.
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